Challenges - Wednesday 6th May

Adding Decimals with Different Decimal Places
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Part 4 – SATs Questions
Q1.
 
Calculate  52.85 + 143.6

Q2.
 
Tick (✔) the two numbers which have a total of 10
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Whitney is cycling in a race.
She has cycled 3.145 km so far and has 4.1km left to go. What is
the total distance of the race?
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Evais trying to find the answer to

4144 +14

Here is her working out.

Can you spot and explain her error?

Work out the correct answer.
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Place the calculations in the correct
column in the table.

Some calculations might need to go in
more than one place.

Add 2 more calculations to each column.
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